Homework 3
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[image: image4.png]‘What you need. What you need o know:



Customer Migration Between Vendors
Office Depot has traditional stores as well as a website OfficeDepot.Com from which it sells office supplies.  Amazon.Com also sells office supplies from its website.  Customers tend to migrate from one source of office supplies to another according to a transition matrix:
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where the rows and columns correspond to OfficeDepot.Com, Office Depot Stores and Amazon.Com, respectively.  The interpretation of this matrix gives the probability of a customer transitioning from a column to a row (e.g. b is the probability of going from OfficeDepot.Com to Amazon.Com).  The parameters a-g are positive; two of the nine entries are zero.  (What other restrictions are implied by the fact that columns form transition probabilities?) Currently the office supplies market shares of these three outlets is 0.03, 0.95, 0.02.  
a. What are the long run market shares for the current transition matrix?

b. Office Depot thinks a million dollar comparative advertising campaign could cause the transition probabilities from Office Depot stores to the websites to shift to be more advantageous for OfficeDepot.Com.  Namely, the resulting transition matrix would be
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,
where  is a shift in transition probability so that customers of Office Depot are slightly more likely to stay under the Office Depot umbrella rather than drifting over to Amazon.Com.  What are the long run market shares for the new transition matrix after the comparative advertising campaign?  
c. By slightly adjusting the advertising message, the transition matrix that results from the comparative advertising could be
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where  is now the draw to Office Depot stores from shoppers of OfficeDepot.Com.  Notice that the draw effects transitions only by reducing the probability of OfficeDepot.Com shoppers being siphoned off by Amazon.Com.   What are the long run market shares for this transition matrix?  
d. Which advertising campaign from parts (b) and (c), if any, would you recommend?  Why?
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